
Answerkey

RANK MAKER EXAM - 1

1. b) tkmj-y¬ tIm¨{SmIvSv

2. a) DØ¿{]-tZiv

3. d) ae-∏pdw

4. a) emIv‰nIv BknUv

5. b) 1780

6. c) \ote-i-zcw

7. b) s]cn-bm¿

8. d) sNss∂

9. b) 1977

10. c) ssh‰-an≥ B
7

11. a) Aø-¶mfn

12. d) F≥.sI knwKv

13. b) DØ¿{]-tZiv

14. a) HUokn

15. c) πm‰n\w

16. b) se\n≥

17. d) A\p-c-W\w

18. a) kp_≥kncn

19. d) 8 hb v

20. b) 61

21. b) 1978

22. d) IISCO

23. a) \oe-Kncn

24. d) sUdm-Uq¨

25. a) PK-Zo]v Z≥°m¿

26. b) kvs]Iv{S¬ knt·-®¿

27. a) jmP-lm≥

28. c) B¿´n-IvtS¨

29. a) APvao¿

30. d) \∂ø

31. b) 1928

32. a) 21

33. b) kvt]m©n Ab¨

34. c) 47

35. a) s{^U-dnIv hqf¿

36. b) hn{Iw kmcm-`mbv

37. a) Atflm-]-tZi iXIw

38. c) 80

39. a) Atam-Wnb

40. b) 6.25 ×1018

41. c) Pn.kn ap¿ap

42.  b) a[y sdbn-¬th

43. d) I¿Wm-SI

44. a) sdmam-\nb

45. b) C¥y

46. c) {]hnµv Pp·mZv

47. a) C.k‘y

48. c) Sn. ]fl-\m-`≥

49. a) I¿Wm-S-I-

50. c) \yq-U¬ln

51. c) {]tbm-PnI

52. a)Fw.-ap-Ip-µ≥

53. d)hkpZ

54. d)ae-bm-‰q¿ cma-Ir-jvW≥

55. b) A child that cries will get the milk

56. c) BK-a-k‘n

57. a)hcmfw

58. b) A\p-K-r-loX

59. b)Iew+-Ad

60. d) ho≠pw Hcn-°¬ IqSn Rm≥ At±-lsØ ImWm≥ t]mIpw

61. a) whom

62. c) drapes

63. d) prize

64. b) Patricide

65. b) He said that he wished to learn English

66. d) pharmaceutical

67. a) is

68. d) with

69. b) adjective

70. c) aren’t I (am+not = aren’t)

71. c) cleverest   (superlatiue degree form:

                the +adjective/adverb+est)

72. d) parliament

73. d) is    (as well as  h∂m¬1st subject  \v A\p-k-cn®v
      verb Fgp-XWw

74. d)The work will be done by him

            (simple future tense passive form :

                      object +will/shall+be+V3+by+subject)

75. b) put up with

76. c) Declarative sentence

77. b) an

          (vowels  ku≠nt\msSm∏w an  F∂ article

78. a) since

IrX-y-amb ka-bsØ kqNn-∏n-°p∂  present

perfect continous tense ¬ since D]-tbm-Kn-°p-∂p.

79. a)bird -watcher

              ( hyphenated compound -word)

80. c) generous



Maths Explanation
81. c) 7:20

11 : 60-
  4 : 40
  7 : 20

82. b) 14

5+12   = 6,       6+32 =15       15+52=40
40+72 = 89

83. b) 75cm2

ka-`p-P-km-am-¥-cn-I-Øns‚ ]c-∏-fhv
= 1/2 d

1
d

2

= 1/2× 10× 15
= 75cm2

84. b)7867                     
1  2  3  4  5   

F E E D          H I  G H            a b c d e
                    5 4 4 3          -1 -1 -1 -1            f g  h  i

                                  7    8    6   7                 6  7  8  9

85. d) 2:1
\ofw = 1x              Np‰-fhv = 3x
   3x   = 2(x+b)
          = 2x+2b              x = 2b
                                       x/b=2      x : b= 2 : 1

86. a)tcWp
tcWp   A\p kpcmPv a\p

87. d)16

 x = 
y+2

                  3
        3x = y+2

    3x-2 = 2x+4                  ∴3× 6 = y+2
x = 6          y = 18-2

            =  16

88. c)169
     →   1
     →   4 (2)2       9 (3)2

     →   16 (4)2    25 (5)2    36 (6)2

     →    72            82           92  102

     →    112          122        132   142 152

89. c) 75

B = 
4 A       B/A= 4/3,   B=4,      A=3

B bpsS F{X iX-am-\-amWv A
  ⇒ 4 × x/100 =3
              

      x =
 3 ×100

                              4
                       = 75%

90. b)63
x/21 × x/189=1
x2  =21× 189
x  = √3× 7× 7× 3× 9
    = 3× 7 ×3
    = 63

91. b)6
AB2 = AC2-BC2

       = 102-82

       = 36
                            ∴ AB = √36 = 6 cm

92. b)108
hn‰-hne =120 × 90

 
=108

                100

93. d)170

     9 Ip´n-I-fpsS BsI Dbcw = 9×160 = 1440
     10 Ip´n-I-fpsS BsI Dbcw=10×161=1610
     ]pXnb Ip´nbpsS Dbcw =  1610-1440 =170

94. a)2

x =
 
1    × 4                        x

x2 = 4
x = 2

95. b)0.001

105×10-8=105-8

= 10-3 = 1/10
3

=1/1000 = 0.001

96. b)90 an\n´v

d = 300 In.-an
 _kn¬t]m-b-t∏mƒ icm-icn thK-X= 40km/hr

      ∴ bm{X sNøm≥ FSpØ kabw, t
1
 = 300/40=7.5

Imdn¬ t]mb thKX = 50km/hr
t
2
    = 300/50 = 6hr

t
1
-t

2
= 1.5 hr

      =1.5 × 60 =90min
97. c)1160

I = 
PNR 

=
 1000× 2 ×8

      100           100
               =160
XncnsI e`n-°p∂ XpI =1000+160=1160

98. d)1
53,43,33,23,13

99. d)0.222........

0.333........... = 1/3
0.666............= 2/3

     ∴ 0333..×...0.666= 1/3× 2/3=2/9
                      = 0.222...

100. b) 53
Feb 1 = sNm∆
∴Jan 1=31

/7
injvSw3 + -sNm∆
⇒i\n km[m-cW h¿j-Øn¬ P\p-hcn 1

GXv BgvN-bmtWm AXv 53 {]mh-iyw
Bh¿Øn°pw

8m

8m

A

BC

10m

3


